
Answers to Classwork Transformations of Functions 

1. 
2( ) ( 1) 4f x x    

 

 

 

a) Basic Shape:____Square Function______ 

b) vertical shift:____down 4___________ 

c) horizontal shift:___left 1__________ 

d) compression/stretch:___1____________ 

e) x-intercepts: _____-3, 1__________ 

2. 
2( ) 3( )f x x  

 

 

 

a) Basic Shape:____Square Function______ 

b) vertical shift:____none__________ 

c) horizontal shift:___none_________ 

d) compression/stretch:___3_________ 

e) x-intercepts: _____0__________ 

3. ( ) 1 2f x x    

 

 

 

a) Basic Shape:____Square Root Function______ 

b) vertical shift:____down 2__________ 

c) horizontal shift:___left 1_________ 

d) compression/stretch:___1____________ 

e) x-intercepts: _____3__________ 



4. ( ) 1 3f x x     

 

 

 

a) Basic Shape:____Square Root Function______ 

b) vertical shift:____up 3__________ 

c) horizontal shift:___left 1_________ 

d) compression/stretch:___-1____________ 

e) x-intercepts: _____8__________ 

5. 
3( ) ( 4) 1f x x    

 

 

 

a) Basic Shape:____Cube Function______ 

b) vertical shift:____down 1__________ 

c) horizontal shift:___left 4_________ 

d) compression/stretch:___1____________ 

e) x-intercepts: _____-3__________ 

6. 
3( ) 2( 1) 2f x x    

 

 

 

a) Basic Shape:____Cube Function______ 

b) vertical shift:____down 2__________ 

c) horizontal shift:___left 1_________ 

d) compression/stretch:___2____________ 

e) x-intercepts: _____0__________ 



7. 
3( ) 2 3f x x    

 

 

 

a) Basic Shape:__Cube Root Function______ 

b) vertical shift:____none__________ 

c) horizontal shift:___right 3_________ 

d) compression/stretch:___-2____________ 

e) x-intercepts: _____3__________ 

8. 
3( ) 2 2f x x    

 

 

 

a) Basic Shape:__Cube Root Function______ 

b) vertical shift:____down 2__________ 

c) horizontal shift:___left 2_________ 

d) compression/stretch:___1____________ 

e) x-intercepts: _____6__________ 

9. 
1

( ) 3 2
2

f x x     

 

 

 

a) Basic Shape:_Absolute Value Function___ 

b) vertical shift:____up 2__________ 

c) horizontal shift:___left 3_________ 

d) compression/stretch:___-1/2______ 

e) x-intercepts: _____-7, 1__________ 



10. ( ) 3f x x   

 

 

 

a) Basic Shape:__ Absolute Value Function__ 

b) vertical shift:___down 3__________ 

c) horizontal shift:___none_________ 

d) compression/stretch:___1____________ 

e) x-intercepts: _____-3, 3__________ 

 

11.  EVEN 

 

12.  NEITHER 

 

13.  ODD 

 

14.  NEITHER 

 

15.  ODD 

 

16.  EVEN 

 

17.  EVEN 


